ID:1210 P- 1

P g SR
ESR S TR = 1 =i Q1 IV NI )
By 3% 044209 H 29 H okt 0 126 b (Biir)
fh 4 JE Hh & Wae | %K E=E e T fE g2y ]

X R AbE 10. 00 | #H%F 300 3, 000 1, 669
IENE b 10. 00| AHxf 450 4,500 2,484 2,394| 1,944
HOR w5 5. 00| FHxf 48 240 3,780 3,310 648
H ¥ E % 15. 00 | #856f 1,676 25,140 1,620 1,369 1,080
ERSEaNe) FiE 10. 00 | ¥ 780 7,800 1,048 905 648
ESF AWII--N E % 4. 00 | FHxF 61 244| 4,752  4,378| 4,158
H & 5O 3. 00| FHxf 37 111 1,944 1,748] 1,642
B A [ 1. 00| FHxf 140 140 1,620 1,234 432
ENIEE .00 4% ol 50| 4,320 3,348 2,700
T B 5. 00| FH%F 47 235 2,592 2,093| 1,080
= m | 0.40|#A%t| 1,180 42| 167 40| 108
= %% 4. 00 | FHxF 260 1,040| 2,808| 2,371| 1,404
[N =% 5. 00| FHxf 1,774 8,870 2,160 1,864| 1,296
B—< = 0. 15| FHx} 2, 983 449 76 69 59
A7 k= b AbiEiE 3. 00| FH%f 342 1,026 2,916 2,763| 2,268
BN o.00| FEXF| 6| 2l | 0,484

ot b 0. 10| FH%f 40 5 194
= m | o.00[ /%] 8| 16| 1,08 s8] 432
H 7% wm 5. 00 [ #H %} 68 340 1,944 1,736| 1,404
A= 4 AbiEiE 10. 00 [ #H % 510 5,100 1,944| 1,110 756
B =% 10. 00| AHxf 185 1,850 3,024| 2,329| 1,836
£ # & OE 10. 00| AHxf 358 3,580 2,592 2,413 1,728
LA A £ ¥ 10. 00| FA % 1,515 15, 150 1, 944 1, 356 1, 080
P=—VLF k¥ 4, 00| FH*} 791 3, 164 1, 836 1, 230 648
Tayal— E B 4. 00| AH%F 120 480 2,376 2,187| 1,404
AEMEE o 0. 10| FHf 1,700 170 151 91 65
ZDEHE £ ¥ 0. 20 [ A%} 600 120 69 65 64
LU 5 % 0. 20 | FH%f 300 60 94 86 83
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P g SR
ESR S TR = 1 =i Q1 IV NI )
RHE 044209 H 29 H eI Dt e/ 29 kv (Biir)
fh 4 JE Hh & Wae | %K E=E i fiE T fE g2y ]

RS i Fosk L 10. 00 | #H%F 781 7,810 3,996| 3,160 1,728
DOND H & 10. 00| FA % 178 1,780 2,916 2,111 378
= /N o 10. 00| AHxf 50 5001 3,780 3,413 2,916
& I | 0.00| fxr | 233] 2,330 3,780 3,117| 2,484

S %3 £ % 0. 35| FHxf 500 176 562 530 508
B A — % [T 00| FHxf 30 60| 1,944 1,800 1,512
AR O 0. 60| FHxf 42 26 432 365 281
gl | 0. 30| fxk| 1,234 370 302| 089 173

/NEPE I o e 10. 00| AHxf 40 400| 4,320 4,219 4,050
e O 10. 00 | #H%f 61 610| 11,880| 10,304 8,640
Avara 74U | 13.00] fH%E 67 871 3,780 2,232 594




